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I Analysis of dispute n”2/v"a regarding minimum minn for a nn¥'n nron (1/2)
a 0™ dispute is whether we interpret text as
i read (NIpp5 DN ¥2) 'RHY 172 TP NP NP = 6, 4 for men and 2 for minimum
ii  written (171005 o8 ®2): v. 1 — mM1p n1p Mp =4, 3 for myn and 1 for minimum
1  note: cannot be 4 for mxn and none for minimum — can’t have 1793 without some o7 ninn
2 or:n"aaccept both nmon and ®1pn — ®X1pn adds one more (5) — 4 for mxn and 1 2299
(a) challenge: if so, v. 2 should lead to 5 n'na in p%an
(i) defense: n"a accept ™’s source — VV-2 and na — 2 (in other languages),not from v.2
(b) challenge: if so, v. 3 should lead to 5 walls for n>1o
(i) defense: 1 needed for itself, 1 for 790, 3 (left) for walls, n"n%n diminishes last wall to nav
(c) challenge: if so, napa n1Yv (v. 4) should be nxnv for 42 days (halfway between 14 and 70)
(i) answer: nnT13 guides the reading — double mm =14
b &1 explaining n"a: vv. 5-7; 3 instances of 192 (in re: nxrvn)
i explanation: each one lowers the vital amount from 4->3->2->1
ii  in response to: suggestion that 1 minn is inferred from the 1 ninn which is sufficient for non% Pannn (other n1avp)
1 and: conclusion that n1¥’'n nRoYnN is more similar to 719 NrVN (4 MNP, M17p) than nYIY (pIna)
2 therefore: 71931 7931 7991 lowers vital amount to 1
(a) challenge: 7931 is needed for itself
(i) answer (837): nYon (vv. 5-7) covers that; 9991 (in each instance) is superfluous
(b) challenge: why not use each 7921 to diminish necessary minn above - but keep 4?
(i) explanation: 7921 > even 3 up and 1 down; 7921 = even 2/2; 992 = even 0 up and 4 down
1. answer: that would negate the rule of mp yar
a. challenge: but if that’s the law, let it be negated
2. answer (827): the only application of 3 is to nip
(ii) challenge: why not read as lowering 3/1, 2/2 then 1/3?
1. answer: we find no wn7 that are split up/down
a. challenge: the inner minn on "ny are 1 up/7 down
i.  answer: that was done 99302 — like striking, all in a row (continuum)
b. challenge: mann (on 2”nv) on a0 N2t on “nam v V"
i.  assumption: means “halfway mark” (as in 8110 — midday) — must spill down
ii. answer: 1INV means the inside (top) —asin v. 8
c.  challenge: W (are below)
i.  answer: D»Y are inessential (*29yn RY)
ii. challenge: 0w of MN7a NRYN, according to some, are 13yn (spilled below — yina)
iii. answer: our only concern is split in one place (p1na or n1a1)
C  Rm2:7aR7 expands on N"2/v"1
i w”:2 mnn of nron (and 1 of all others) are m7'nn and mYan
ii ~ n”a:1 (of all, including nxon) is 53an and Pnn
1 question: why isn’t this dispute listed (in n1Ty) among v"a "1p?
(a) answer: question was posed in re: 10 to eat 127p (after 1 ninn)
(b) and: in that context, n"a’s position is the lenient one
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